RURAL WORKS DEPARTMENT



GOVERNMENT OF BIHAR

NAME OF ROAD:-

BAIRIA PULA SE MD GANJ SIMA H O RAVIN THAKUR

DIVISION:-

R.W.D, WORKS DIVISION, TRIVENIGANJ

CIRCLE:-

R.W.D, WORK CIRCLE, MADHEPURA

BLOCK:-

CHHATAPUR

ESTIMATED COST

4611160

Inspection Report for Flood Damage Work

-				
``	-	۰	-	
•	3	τ	•	_

- 1. Name of PIUs R.w.D works Division Triveriganj
- 2. Name of Block/Road Chhalapur Bairia pula Se Md Grong Sima HO Ravin Thakur

A. For Road

- 1. Damage Location/Chainage
- 2. Damage Length
- Eg. cm Root want 3. Nature of Damage
- 4. Details of Restoration Works
- Material being used in Restoration works: perlay, early bardens the Equipments/Tools being used in Restoration works: July, Transforting Procedure taken up in Restoration works:
 - ii.
 - iii.
 - 65.0m Restored Length iv.

B. For Bridge

- 1. Damage Location/Chainage
- (MA 2. Damage Length
- 3. Nature of Damage
- 4. Details of Restoration Works
 - Material being used in Restoration works:
 - Equipments/Tools being used in Restoration works:
 - Procedure taken up in Restoration works: iii.
 - Restored Length iv.

Signature of JE/AE/EE

(Name of Inspector)

Abstract of Cost

Name of Work: Estimate for Repairing/Restoration/Making Motorable Roads Damaged during flood in 2019 in SUPAUL District

Name of Road:

BAIRIA PULA SE MD GANJ SIMA H O RAVIN THAKUR

CHHATAPUR

District: SUPAUL

Divison: RWD, Works Division, TRIVENIGANJ

Circle: RWD, Work Circle, MADHEPURA

SIN	Description	Unit	Quantity	Rate (Rs)	Amount
I	Filling of local sand obtained from river bed, watering & ramming, all complete job as per specification & direction of Engineer-in-charge.	10 ·	(m3)		(Rs)
	Labour for cutting 62mm to 75mm dia bamboo piles	Cum	1043.25	614.94	641536.16
	to size and making shoes & driving by jet machine etc. all complete job as per specification & direction of Engineer-in-Charge.				
_		Mtr.	1950.00	45.73	89173.50
3	Labour for fitting & fixing 62mm to 75mm dia bamboo runners in position at every vertical pile with 150 mm long nails or 38 swg G.I wire including cost of G.I wire or nails etc all complete job as per specification & direction of Engineer-in-Charge.				05173.30
		Mtr.	524.00	31.40	16453.60
	Labour for filling empty cement bags with loocal sand, stitching the bags and placing in Nylon crate of size (1 m x 1 m x 1 m) with lead of 150 M including supply of sutli etc. at site in dry portion all complete as per approved design, specification and direction of E/I				
		NO	826.37	894.60	739271.50
5	Supplying of EC bag, filling of local sand, stitching and placing in position as per the direction of Engineer-in-charge.				
		Each	66282	30.12	1996409.04
5	Supply and Carriage of brick bats upto 8 km breach and placing in breaches and lying of bats, all complete job.				

	Supply laying and Corriers 6 61	Cum	165.75	2106.15	349094.36
	Supply,laying and Carriage of of hume pipe 1000 mm dia (HPC), all complete job.	Š.			347074.30
_		meter	45.00	4629.59	208331.55
	TOTAL AMOUNT =				4040269.70
-	ADD 12.00 %GST=				484832.36
	TOTAL=				4525102.07
	ADD 1 % LABOUR CEES=				40402.70
	TOTAL=				4565504.77
	ADD 1 % CONTINGENCY	=			45655.05
	SAY TOTAL AMOUNT :	=	0		4611159.81
_			SayRI	46.11 lasg.	

JE
RWD SUB
DIVISIONCHATAPUR

7271119 AE

RWD SUB DIV. CHATAPUR

RWD WORKS DIV. TRIVENIGANJ

SE MADHEPURA

T.A. No	199	7dt	23.11.1	9
Ref. E.E. Lette				
Technically Appro				
(Rupees				
thouse	nel -			.) Only
or constr				., 5,,

Superintending Engineer
Rural Works Department
Works Circle, Madhepura